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U.G. 1st Semester Examination - 2019

ECONOMICS
[HONOURS]
Course Code : ECOH-CC-T-II
Full Marks : 60 Time : 21 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
@- (I weeifB 208 a7 2

2) Iff(x)=x3-%,ﬁndthevalueoff(x)+f(-x).

I £(x)=x’ —,-xl—J T, TR f(x)+f(-x)-47 A
fefa 71

b) Check for continuity of the function

f(x)= ;—1-; at x=a.

f(x) = —— St x=a e Fraffan e

X—a
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If domain of a function y=5+3x is the set

§={x|1<x <8}, find the range of the function

and express it as a set.
y=5+3x S AR HE= 3 g 91 A

GG S={x|1<x<8} %1a ©@ WAESd A
faefa @9 R GIHF AR =T

— 2 .
Show that, lin-lei—zl— does not exist.
xX— x —_—

crae @, liu;lx_‘;'«gaw@w Rl
x—=2 X —

Find the subsets of the set S={1, 2, 5}).

o S={1, 2, 5}-43 FCIvBfE EI

Assume that demand function is q=16—4p and
supply function is q=—8+4p, find the
equilibrium level of price and quantity.

i 51fewl SersE q=16-4p QR @A TAFS
q = -8+4p T, O SITARY W 8 sifgiel fFeffae

Fq1
What do you mean by point of inflection?

e AR 79 9708 D @2

State the necessary and sufficient conditions for
maximization of the function y=f(x).

y=f{x) WA 5 T AT &) QTG R
sifie eyl fRge 341

(2)

)

k)

n)
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Find the first order derivative of the function

R
a’+x?

=X 97 aYw g Sawe G w4 |
al+x?

If total cost is C=15+109-99*+q’, find out the

average and marginal cost.

T @G I C=15+10q-9q*+q" T ©4 16 A @
afys am fFefa w4

What do you mean by convex set?

T&A 76 TS Q@RI ?
Evaluate I(dl—Sx +9c“) dx.

J(VI=5x +9e™) dx ~az s oa

x

Given the demand function p=10.¢ ?, find

price elasticity of demand.

- o7g bifEwl SirepEs p=10.¢ 293 Cwea bifEwTa Wl

ffegewe Afa o2
If the demand function is p=80-2q, find the

marginal revenue.

v sifEdl Seerwafs p=80-2q =, Af¥s s fida
9|
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Answer any four questions:

What do vou mean by first order difference
eguation?

zew 3w fewnaw slisas aore & (a3 y
$x4=20

®-An= sR ez Tea e

a)

<)

d)
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Average cost function is AC=3Q°-9Q+100.
Comment on the shape of the function.

TE T @ AC3Q-90+100-92 wrafe e
mv

Distinguish between 'convex and concave
function. Explain your answer diagrammatically.
TEe ga wave wremas g wides Ba e
LaL ok -3

The demand function is = 10-p, when p=Rs.6,
g=4. If the price rises by 5%, determine the
percentage change in quantity demanded and
#lso find the price elasticity of demand.

23424

Vit e g=10-p gat p=Rs.6, q=4 %15 wm
zﬁsq;mmsﬁmgwﬁmwur
vfivena wr fgfogmas) aw gray

Given the production function
L ) 5
qg= — 217 +12L, find average productivity

(4)

¢)

average productivity starts falling

Answer any two queslions:

of labour (1.) and also find at what value of L,

24424

o WS q = 4 21 + 121 WA

b}

wrd (1) 15 Gesmeniorst Cofn 34 g |09 (91
Wot o1 Besmaiere) g1 (#0E 9% Bon ot fefy w1
Determine the maximum and minmum values
of the function f{x)=x'-12x+2.

flx)=x'-12x+2 WOPHF 5TR 47 T (o)
ut- feefu w4

If the marginal
MC =3+150q-9q’, find the total cost given

cost of a firm 1is

the condition at q=3, total cost i3 T300
W e wirda afes an MC = 3+150q -9 =,
wra @G Ay sy o4 wws =E 1S =3, W6

73001
10<2=20

- cats qfS awa Taa we o

a)
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The demand function of a monopoly firm is
p=15-0.5q and total cost is C=0.5q*+5q*10,
then tind price and quantity produced by the firm

i) under profit maximization
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i) under revenue maximization.

W @R i wink it s p=15-0.5q
AR @M T C=0.5q*+5q+10 T, ®73 ¥ wiw
AR VAT sttt el 32

D 2Nl e s

) X ol i e a0 ¢

1) Derive the relationship between average

fevenue, marginal revenue and price
elasticity of demand.

mﬁam,mmwﬁmmfiﬁmm
T R efT 39

11)  Given the supply function q, = a\p-b,
find the price elasticity of supply and show

that price elasticity of supply decreases
with rise in price. 5+5

U8 (AR WABE q, =a,[p—b-97 (W
QI w fegiomer fefa 321 orane @
(RN A ot Wi arete st 2 |

The demand and supply functions for Cobweb

model are Q4 =86-0.8P, and

Q.= —-10+0.8P respectively. Find the

intertemporal equilibrium price and determine

whether the equilibrium is stable or not.

(6)

d)
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Fq6TA VT SIEA € QAN AT 2AFTH
Q, =86-0.8P, @3t Q,=-10+08P =&
WG SRR A 7 37 93 @} srha
fyfeReTe! oars 33|

I
Cost function is c=3ooq_|oq2+.3_q‘, then

calculate
i)  output at which marginal cost is minimum
ii) output at which average cost is minimum
iii) Show that at minimum point of average
cost, AC=MC. 4+4+2=10

(6 W @ C=300q-10q’ +é'q3 A fAefT
392

D @Yl 9 e 3w S

i) e W 1S T N

i) ordte cu o1g R g favre AC=MC |

(7
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